

ABSTRACT

Forests – Wildlife – Scheme for the "Integrated Development of Wildlife Habitats" – Vallanadu Black Buck Sanctuary, Thoothukudi District – Administrative Approval for a sum of Rs.13.590 lakhs and release of first Installment of Rs.13.590 (i.e. Rs. 2.530 lakhs + Rs. 11.060 lakhs of unspent amount of previous year) for 2012-2013 - Orders – Issued.

ENVIRONMENT AND FOREST (FR V) DEPARTMENT

G.O.(D) No. 380 Dated: 06.11.2012

Read:

1. Government Letter No.11179/FR.5/2012--1, dated 4.6.2012.

- From the Joint Director (WL), Government of India, Ministry of Environment and Forests New Delhi Letter F.No.13 22/12-WL-1, dated 12.10.2012.
- 3. From the Principal Chief Conservator of Forests and Chief Wildlife Warden Letter No.WL3/6378/2012, dated 17.10.2012.

ORDER:

In the reference first read above, the proposal of the Principal Chief Conservator of Forests and Chief Wildlife Warden for seeking Central Assistance of Rs. 14.940 lakhs for taking up certain works under "Integrated Development of Wildlife Habitats" – Vallanadu Black Buck Sanctuary was forwarded to the Government of India, Ministry of Environment and Forests for approval and release of funds as a Centrally Sponsored Scheme during 2012-2013.

- 2. The Government of India, Ministry of Environment and Forests in their letter second read above have conveyed their administrative approval for a sum of Rs. 13.590 lakhs and released a sum of Rs. 13.590 lakhs (i.e. . Rs. 2.530 lakhs + Rs. 11.060 lakhs of unspent amount of previous year) as first installment for the "Integrated Development of Wildlife Habitats" Vallanadu Black Buck Sanctuary during 2012-2013.
- 3. The Principal Chief Conservator of Forests and Chief Wildlife Warden has also requested the Government to issue orders to release the first installment of Rs. 13.590 lakhs in a single payment under Letter of Credit system instead of releasing in two to three installments throughout year.
- 4. The Government after careful consideration accord administrative sanction for a sum of Rs. 13.590 lakhs (Rupees Thirteen lakhs and Fifty Nine thousand only) and release the first installment for a sum of Rs. 13.590 lakhs (Rupees Thirteen lakhs and Fifty nine thousand only) (i.e. Rs. 2.530 lakhs + Rs. 11.060 lakhs of unspent amount of previous year) towards the expenditure on the items of works as detailed in the Annexure to this order for the "Integrated Development of Wildlife Habitats" "Vallanadu Black Buck Sanctuary under the Centrally Sponsored Scheme during 2012-2013.

5. The expenditure sanctioned in para 4 above shall be debited to the following head of account :-

4406 Capital Outlay on Forestry and Wildlife 02 Environmental Forestry and Wildlife – 110 Wildlife Schemes in the Twelfthh Five Year Plan –III Centrally Sponsored – ST Eco-Development around the protected areas of Vallanadu Black Buck Sanctuary - 16 Major Works (D.P.Code 4406 02 110 ST 1608)

- 6. The Principal Chief Conservator of Forests and Chief Wildlife Warden is authorized to incur the expenditure in para 4 through Letter of Credit.
- 7. The Principal Chief Conservator of Forests and Chief Wildlife Warden shall ensure that the expenditure in this regard does not exceed the sanction amount and to send the Utilization Certificate to Government of India in time.
- 8 This order issues with the concurrence of Finance Department vide its U.O.No.60459/AH&F/2012, dated 6.11.2012.

(BY ORDER OF THE GOVERNOR)

C.V.SANKAR
PRINCIPAL SECRETARY TO GOVERNMENT

To

The Principal Chief Conservator of Forests, Chennai-15

The Principal Chief Conservator of Forests and Chief Wildlife Warden, Chennai -15

The Secretary to Government of India,

Ministry of Environment and Forests, New Delhi-110 003.

Concerned Treasury Officer.

The Pay and Accounts Officer (South), Chennai-600 035

The Accountant General-I/II, 361, Anna Salai, Chennai-18

The Accountant General-I/II, 361, Anna Salai, Chennai-18(BN)

Copy to:

Planning Development and Special Initiative Department, Chennai-9

The Finance (AH&F/BG II) Department, Chennai-9

The Financial Adviser,

Office of the Principal Chief Conservator of Forests, Chennai-15.

SF/SCs.

/FORWARDED BY ORDER/

SECTION OFFICER

<u>Annexure</u>

to G.O.(D) No.380, Environment & Forests (FR.5) Department, Dated 6.11.2012

(Rs.in lakhs)

	_	T	(13.1111ar	· ·
SI. No.	Item of Work	Quantity	Rate / Unit (Rs. in Lakhs)	Amount (Rs. in Lakhs)
	Non recurring activities			j
1.	Construction of check dams to provide water to wild animals (approved during 2011-12)	1 No.	1.00 / No.	1.00
2.	Construction of percolation ponds (approved during 2011-12)	1 No.	3.00 / No.	3.00
	Sub-Total			4.000
	Recurring Activities			
3.	Conducting population estimation of wildlife (approved during 2011-12)	LS	LS	0.500
4.	Erection of sign boards/education hoarding (approved during 2011-12)	2 Nos.	0.10	0.200
5.	Providing salt lick (approved during 2011-12)	LS	LS	0.300
6.	Clearing of fire line (approved during 2011-12)	5 Km	0.02/Km	0.100
7.	Engaging fire protection mazdoor (4 months) (Out of 6 at least 1 fire protection mazdoor amounting to 4 months should be person belonging to Scheduled Cast community)	6 Nos. for 4 months including SC beneficiaries	0.04/ No. / month (Rs.0.16 lakh for SC beneficiaries)	0.960
8.	Pumping water from existing bore wells in water trough already created (approved during 2011-12)	3 Nos.	0.50	1.500
9.	Removal of feral cattle (approved during 2011-12)	LS	0.50	0.500
10.	Maintenance of cairns (approved during 2011-12)	150 Nos.	0.002 each	0.300
11.	Engaging Anti-Poaching Watchers (Out of 6 at least 1 fire protection mazdoor amounting to 4 months should be person belonging to Scheduled Cast community)	6 Nos.	0.04 / No. / Month (Rs.0.48 lakh for SC beneficiaries)	2.880

12.	Maintenance of Existing Nature trail	3 Km.	0.02 / Km.	0.600
13.	Conducting Nature education / public	3 Nos.	0.25 / No.	0.750
	awareness programmed for school children			
14.	Conducting veterinary camps and	10 Camps	0.10	1.000
	immunization programme in buffer villages			
	Sub-Total			9.590
	Recurrent activities (central share)			
	Grand-total			
	Total central share			
	Unspent balance			
	Net release			2.530

C.V.SANKAR PRINCIPAL SECRETARY TO GOVERNMENT

/TRUE COPY/

SECTION OFFICER